Seat No. :

MP-140

March-2019
B.A., Sem.-VI

CC-314 : Psychology
(Experimental Psychology-1I)

Time : 2:30 Hours] [Max. Marks : 70
1. () 208s WSAAAL UALLAL USR dR[5 A0E-210E ULsUAAL (ot 2l 531 14
YL

-~

AL WIS 24 3001 (AL (ot 2 3L

(o) AlRAAL USALAL el 2L : (1 L AR) 4
() Aeud ed g ?
(i) B ALUUH ULGRAAL VAU 307 53] el (Al / 2AR212Q)
(iii)  AULSAAAL WARIS 5 HOL R LS. (W] / Mi2)
(iv) ol [ wHeL aloss ulalu v utarel dd ulasue a1
S 6. (QuR / 2AUe9))

(v)  ARURALALSsLAL 2 oyl
(vi) B AL 12 oLl

~

2. () Rt usriAl Boid 2l 531 14
242l
[RiatetAL asi-l Uewid Aoyl AL

(01) AR USALAL vl AL : (S1EURLAR) 4
() Rt vied HeldrAL R L Ul HML AL AL 5812,
(5L / dd-)
() R s Bt e, (Ml / 2Hd)
(i) Hidlld Helepl [Rieel AU S e, ([o-wlors / wloss)
(iv) Yt [Qeerl uodl 24 Qe i wgld ©. (W] / Mi2)
(v) A A€l YEIAL AL A 53 (U2HA 21 ot / AlCPLEIRL)

(vi) Belus-l 2oyld 24 UldlsuAl UL dRRAAL UHURAR 2Aed
(HRBL / Y etell)

MP-140 1 P.T.O.



-~

3. (@) Gelus (ors) Al Rogid 24 HelaRHL g lazil-dl [@a1d 2l 531 14

Yl

-~

(12401 UR AR 53l AlidiAl WREAQA @dldl uReAL [Eoid 2l s31.

(01)  ALRUAL USALAL UL 2AML 2 (S1ESURL AL 3
(i) 2WoEs [RzteL Mzl s[1s azud S 8. (] / W)
() Rt IR uba e, (q0 / wa)
8sL WL 2
L o
(1) el sl (i) @&»
(2) YoM UL VRS (GRICEDE
(3)  UsUdHA (i) A0l s
4. () USEUAL ULLAAL ARISREL 2 {EREL 2A0AL WAL 24 14
Yl

-~

UHRUL Bl Wt i ¢etll sl (stouedl) 2 3.

(01)  ALRUAL USALAL UL 2AML : (S1ESURL L) 3
() AHRAAL 2 ol
(i) =l WEUML AsUAl [AAd HeTa 8. (W] / vig)

$51 ML :
A ol
(1) AoelcHS UsEU-L (a) 5@5 el
(2)  AHSREL AL WAL (b) 2AASLEs
(3)  sRsLUZL (c)  UsCUALUSIR

MP-140 2



Seat No. :

MP-140

March-2019
B.A., Sem.-VI

CC-314 : Psychology
(Experimental Psychology-1I)

Time : 2:30 Hours] [Max. Marks : 70

1. (A) Discuss in detail the Word-Word Associatrion as a type of Verbal Association

Experiments. 14
OR
Discuss in detail the Primary and Secondary Laws of Assciation.
(B) Answer the following questions : (any Four) 4
(1) What is Association ?
(2) was the first to introduce the concept of Association.
(Morgan, Aristotle)
(3) Primary Laws of Association are Five. (True/False)

(4) As Morbe’s Law verbal reaction gets normal the response time gets
(more, less)

(5) State the meaning of Frequency Tables.
(6) State the meaning of Reaction time.

2. (A) Discuss in detail the types of Learning. 14
OR
Explain with illustration the learning curves.
(B) Answer the following questions : (any Four) 4
(1) Learning means measureable changes in as a result of practice.
(work, behaviour)
(2) Learningis a/an process. (concrete, abstract)
(3) Most of the human Learning is form. (Non-verbal, verbal)
(4) Ease of Relearning is a method of measurement of learning. (True/False)

(5) The first nonsense syllables were created by
(Postmen & Egan, Ebbinghause)

(6) The period between the onset of the stimulus and the beginning of the
reaction is . (Memory, Latency)
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3. (A) Discuss in detail the methods for presentation and practice of Stimulus (Verbal)

(B)

4. (A)

(B)

MP-140

material.
OR

Discuss in detail the Learning condition related factors affecting on Learning.

Answer the following questions : (any Three)

(1) Verbal learning is mostly a serial form.

(2) Learningisa mental process. (simple, complex)
Match the following :
(A) (B)
(1)  Anticipation method (i) Glaze
(2)  Paired associates (i) Memory drum
(3)  Associate value (ii1)  Pair of material

Discuss the Naming and Sorting experiments of Concepts Attainment.

OR

Discuss the rolle (contribution) of Trial and Error in problem solving.

Answer the following questions : (any Three)
(1) State the meaning of Problem.

(2) Concept is most importance in Attention process. (True/ False)

Match the following :
(A) B)
(1)  Relational Concept (i)  Clark Hull
(2)  Experiment of Naming (i1))  Thorndike
(3)  Puzzle box (ii1)) Types of Concept

(True, False)

14

14
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1. (A) “Music affects the work efficiency.” Discuss in detail along with related studies. 14

(B)

MP-140

OR

Give the causes of accident and also explain ‘Physical work environment invites
accident’.
Write any four out of six : 4
(1) Instead of dark room a room with distributed light is more

effective.

(a) Strong (b) Medium

(c) Low (d) None of these
(2)  Unlikly or Unpleasant sound means

€)

(4)

(a) Loud (b) Noise

(c) Voice Quality (d) Pitch of voice

The three important factors for ventilation are : Temperature, Air circulation
and

(a) Humidity (b) Light

(c) Music (d) Boredom

For any type of industrial work 40 to 50 foot candle power’s light enough
who said that ?

(a) Thinker (b) Tinker

(c) Jarison (d) Howthorn



2. (A)

(B)

MP-140

(5) Three important things in showing two types of voice are pitch of the voice,

voice quality and
(a) No. of vibrations (b) Wave length
(c) Loudness (d) Vocal code

(6) ‘A study of the effects of noise on the continuous work leads to boredom

and fatigue’ was conducted by
(a) Howthorn (b) Jarison

(c) Tinker (d) Zygernic

Give meaning of motivation. Name the theories of motivation and explain in
detail ‘Valence Explectancy Theory’ and E.R.G. Theory. 14

OR

What is job satisfaction ? Describe in detail the determinants of job satisfaction.

Answer any four out of six : 4

(1) ‘Motivation refers to all the internal conditions that stimulative activity and

sustain activity of an individual.” This definition was given by
(a) Guilford (b) Allport
(c) Abraham Maslow (d) Freud

(2) Needs Hierarchy Theory was given by
(a) Tiker (b) Abraham Maslow
(c) Howthorn (d) Taylor

(3) ‘Employees not only work to earn money.” This result was the study of

(a) Taylor (b) Morse and Weiss
(c) Allport (d) Maslow
4) was the first person to carry out the study related to job-

satisfaction by using questionnaire method.
(a) Hacman (b) Oldhem
(c) Hopock (d) Schultz and Schultz

9 P.T.O.



(5) Study related to the job satisfaction of the teachers teaching at different

levels in Gujarat was done by
(a) Anand Shah & Dipak Shah (b) S.C. Kanawala
(¢) Subhash Dave (d) C.T. Bhopatkar

(6) ‘A change in the attitude of the employee is possible by producing co-

operation between employees and supervisors.” Who carried out this study ?

(a) Weitz (b) Nukols
(c) Herzbarg (d) Hoppok
3. (A) Give the meaning of stress and explain physiological effects of stress. 14
OR

Describe the causes of stress created at work place.

(B) Write any three out of five : 3

(1) Give the result of the study conducted by seagrets on more than 1000

factory workers in China.

(2) In which country Kiwimaki and Kalimo conducted a survey on 5450

workers ?

(3) Who conducted study on 400 workers of the company which was converted

into private company from public company in Britain.
(4) Who describe the three functions of ‘Role Undarity’ as a cause of the stress ?

(5) Due to training work Tension reduces and work performance improves.” —
Who obtained this result after conducting a study on more than 1800

persons of 37 studies ?

4.  (A) Give the name of the research methods related to consumer and explain in detail.

the responses towards the advertisement method. 14
OR

What is advertisement ? Explain various studies with example of Internet on Web

based advertisement.
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(B) Match the following (A) to (B) :

(1

2)

3)

MP-140

(A)
If web page is complicated the (a)
effectiveness of advertisement
reduces

In 1999 — 790 adult person (b)
were surveyed by telephone

Projective technique (c)
(d)
(e)

11

(B)

Donthu and Gorsia

T.A.T. test

Stevenson Bruner
Intelligence test

Effect of Television
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